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Research and Application of Dynamic Message Queue
Load Balance Strategy
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Abstract Aiming at the issue of multiple input message under restricted conditions, this paper provides multi-message-queue concurrent model
and weight load forecast model, as well as a two-phase strategy, which makes the quick dispatching and dynamic load balance come true. It proves
its advantages by simulation, and designs an interactive message management system, which meets requirements of interactive message service.
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ACTIVE_SCHEDULE(Queue[] Q)
Collect Le and Lt of all Q

for each q in Q
if(Lr

) mark state

else mark state

Sort Q by Le asc

i=0,j=QUEUE_SIZE-1

while(Q[i] )
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